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ETTBIBITED?

a) deoliugsnmbd b) wewlGaemen

c) sbugmonuenid d) ypmreTH

e) eflenL OgMwesbeneo

“6fimb Geveons eumpeyd 6MGeusLIE6ONS 6STWpLD
@D 61651 TRSHEIEDIGS6UIT WITT?

a) smhSwigssit
C) efNGeusmeTHSIT

b) wsaspnwenusi
d) seownesramsTesTT

e) eflenL OgMweNsbeneo

OLINBSSI5.
A. eaeisms 1. gneb S meiperest
B. Geumss bit 2. [BD&S60 HeflEhiT
C. pibaredsasngm 3. w.ewm.deughmewd
D. eteoig GumpmiLid 4. mB.upsH@IE

A B C D A B C D
a)3 41 2 b2 1 4 3
cg03 1 4 2 d4 1 2 3
e) eflenL OgMwesbeneo
PpFeOMDd  @onEgnFedr  HmeOD  OFTLG

EIDUISSTSDSHET ETH60 6UIREUEMLDSSLILIL (B6TETEur?
b) eeslGU®GssiT
d) s @slunisst

a) Remevgsaug
C) sena®
e) eflenL OgMweNseneo

“snenenaeett LML LIHMS SamILb HIT6D 618 ?

a) sblsagnems b) LrigeiLTEED

C) BRGOIHID) d) eniEesnems

e) eflenL OgMwesbeneo

SIMISHIST GCamelled AU 6MmiGs
STeTTLILIBS6STD S ?

a) LmedeOLYILD b) anepdlymb

C) Smwwid d) 8med

e) eflenL OgMweNsdeneo

“2_evadg15@ Hgenenfl” GUTeTET wWmi?
a) Gamsi b) Siewwéeit

C) e e d) Sewmeueit

e) eflenL OgMweNsbeneo

Ga 8wl [BIT60S [HIT6IT ETLIEWLIMIDE]?

a) SCLMIT9 b) @psev@ 19

C) psev@ 9 d) S&GLmLIm19

e) eflenL OgMwesbeneo
EUEmENTES CHTBSHEITTEO HEWLDIBS LSLILIEHLDUI SLOLD
6TDSG] «evvvvvene 61607 AHEDLPSSLILGENS!?

88.

89.

90.

91.

92.

93.

94.

95.

a) GameLwss b) aroLwsa

C) fsdrewss  d) eduawss

e) eflenL OgMweNsbeneo

“ORwanBEsGeTT@® LIedeoner® erenib mredlesr
OpAfwr win?

a) Y.e.euyems b) Swpdfsms
C) SLsmuunsms d) @omeGsmumeest

e) eflewL OB Mwefeosmed

@.BM1 SHemauuled (PHL CILIETT SEDELUTTE
efleTmiwieurt wim?

a) &Gonzlenfl [UWITG)

b) emb.eretv. siie0L &L

C) SistrerlloIE6HL SLDEMLDWIMTT

d) eflgweor s LietonigL

e) eflenL OgMweNseneo

“LmeonemL” B&61FTEOISSGMW Li6wTTES &(Hs.

a) 8weoy b) Gsnemed

c) Sfseo d) es@seo

e) eflewL e\BMweileosmed

SNDCUSET ‘@BSHHLILLL LMISLD~ 6T6iTend 560D
61155 SHEUOT(B SlEUMHISETTTIT?

a) 1930 b) 1927 c) 1931 d) 1935
e) eflenL OgMweNsbeneo

SPepT sl  SUDESSei
WPSETEDDWITET 2 6THILG 6u6wfls eIDWILDNS
SN Beer GLLD 618?

a) m&se b) Sl

C) mGonG d) semr

e) eflewL e\FMwefeosmen

BCrsas

“Lpfwint’” - OWLIM®ET S

a) dAimbgeurt

b) yprusamLeut

) @Pmpzeui

d) ewnpnenioé @ewTpenLwIeurT

e) eflenL OgMweNsbeneo

‘Bio diversity’ - @ewewnunens sDE6ETED
5.

a) 2 uligdmer b) webegudft LoetorLeoLd
C) &MMmIEEHPEO d) 2_udfiewr evor_svid
e) eflenL OgMwesbeneo

“SeaLi” THTUSDS 860 6TWIT60T &
BLOLDEOETELEMEVS CFiTe| E1FUIS.

a) wseweo b) ewsetres

c) apsw d) Sipeubd

e) eflewL e\FMweieosmned
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97.

. GLHMES HHLES FEWLE FLLLD BenmGams

STIEOTLDNS S (HHSEUTHEHET RIHEUIT

a) epegrii SmOMOTSD

b) wesorgs momumis

C) enefsSfumi L,Geo

d) LmsLi apsgieorsis

e) eflewL \giweflconeo

‘sEmGHTH GMEhALILLE QST O LIMbHCSHE
SDWP&GSD BILOE® HLCL’ - SULmLed eurflser
SLIDALIDHMIETEI [HITED 6187

a) eppasTes  b) mbmewewr

C) SEBTEM) d) ypmrem)

e) eflenL O\siflwsileosneo

98.

99.

‘CEMUsE HHE SeosSWILD’ 66T C\FTeiTeuTeurT
wim?
a) 8m.e.s. b) uneunewor

c) Berncd smpspeonit d) o Geusm
e) eflenL OgMwesbeneo

SIS 6T LIsToflImbmINs ESLD EIIWIT 61517
a) eseiimed b) ®uied
C) wevemen d) susipeort

e) eflenL O MweNseneo

100. peveombgieuentnii OBUISED Hedlufed LimQuwiLl

umLevserflesr ersvoretnflsens:?

a) ebug b) usaesmesimy

) mm d) »iuss epsiip
e) eflenL OgMweNsdeneo

PART -A

Match the Following:

A. Ground floor 1. Offense
B. luggage 2. I**Floor
C. Film 3. Baggage
D. Offence 4. Movie

A B C D A B C D
a)2 3 4 1 b) 3 4 1 2
c4 2 1 3 d1 2 4 3

e) Answer not known

Sentence Pattern.

he is a professor with a lot of experience.
a) SVCA b) SVCO

c) SACV d) SvC

e) Answer not known

Find odd one out:-

a) The courtdeclared himinnolent

b) They named the child siva

c) Ravi’s parents made him a dancer

d) He gave dresses to all poor children
e) Answer not known

Who said?

“If non violence is the law of our being, the
future is with women”

a) Gandhi b) Nehru
c) Ambedkar d) Boss
e) Answer not known

Fill in the blanks:-

If you were really study you
turb)

a) would not be disturbed
b) would be disturbed

(dis-

c) will be distributed
d) will not be distributed
e) Answer not known

_ the differences, the two leaders

show hands and smiled as each other.
a) Despite b) Though

c) although d) still

e) Answer not known

Leaving us stranded in the civilasation of
Nill.

Synonym for underlined word.

a) Confused

b) embarassed

c) rendered unable to move futher
d) delighted

e) Answer not known

Prefix (match it):

inhabited - pan
act - contra
Indicate - un
Indian - counter

A B C D A B C D
a) 34 2 1 b) 4 2 1 3
c) 31 2 4 d 1 2 3 4

e) Answer not known
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9.

10.

11.

12.

13.

Suffix.
manage - let
Magic - lity
Visible - al
Book - ment
A B C D A B C D
a) 3 2 4 1 b) 1 2 4 3
c)2 3 1 4 d4 3 2 1

e) Answer not known

Compound word - Preposition + Noun

a) Upstream b) Schoolgirl

c) Daytoday d) Dutyfree

e) Answer not known

Reported speech

Tourist guide said “Give me your camera

and stand still”.

a) The guide asked to give him his camara
and stand still.

b) The guide asked to give me his camera
and stand still

c) The guide asked to give him my camera
and stand still

d) The guide asked to give him my camera
and standed still

e) Answer notknown

Reported speech:-

The minister said, “i will not apolagise to

anyone for this”.

a) The minister told that he would not
apologise to no one for that.

b) The minister told that he would not
apologise to any one for that

c) The minister told that he would not
apologise to any one for this.

d) The minister told that he will not
apologise to any one for this.

e) Answer not known

The police tried to information

from the bootlegger who sells li-

quor. (illicit/elicit)

a) illicit b) elicit

c) both(a)and(b) d) (a)or(b)

e) Answer not known

14.

15.

16.

17.

18.

19.

20.

21.

Who said, “don’t ask for it unless you want
it, Peter”?

a) Aunt polly b) Huke

c¢) Tom d) Theauthor

e) Answer not known

In the poem “Making life worth while”

A is need for the darkening sky
a) One gleam of faith

b) idea c) knowledge

d) love e) Answer not known
What is the meaning of mirth?

a) laughter

b) away from correct path

c) small piece

d) none

e) Answer not known

The poem “A thing of Beauty” is based on
a) Greek Shepherd

b) latin, Shepherd

c) IndianShepherd

d) Australian shepherd

e) Answer not known

“Will keep a bower quiet for us” means

a) will give us peace and calm
b) will stop unpleasant sound
c) make our beds fit to sleep
d) reduces noise

e) Answer not known

Who was the moom Goddess?
a) Synthia b) Cynthia
c) Eden d) Adam

e) Answer not known

The sun, moon, trees, old and young are the

things that .

a) depress us

b) remove the pall of gloom from our live

c) makes us laugh

d) gives us oxygen

e) Answer not known

What are the preventing of soil erosion?

a) Terracing of land

b) construction of bunds to check the flow
of water

c) Practice of contour cultivation

d) all the above

e) Answer not known
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22.

23.

24.

25.

26.

27.

28.

29.

Water in a landscape may be compared to

the __ inahuman.

a) Breath b) Blood

c) eyes d) Nerve

e) Answer not known

In the poem “The stick together families”

where do the gladdest people gather?

a) atthe park b) atthe fireside

c) atthevillage d) atthe mall

e) Answer not known

In the poem “The stick together families”

what can break the gladdest folks unity?

a) Death b) Exam

c) Journey d) Distance

e) Answer not known

Who advised Arun don’t talk with strang-

ers?

a) Arun’s mother b) Sathish’s mother

c) Arun’s father d) Sathish

e) Answer not known

Identify the speaker/ character

Are you all alone, my som

a) the woman b) Arun’s mom

c) sathish mom d) Arun’steacher

e) Answer not known

Voice: The policemen stop every car at this

junction.

a) Every car is stopped by the policemen
at this junction

b) Every car is stopped by the policemen
in the junction

c) Everycarare stopped by the policemen
in the junction

d) Everycarwas stopped by the policemen
in the junction

e) Answer not known

Question Tag

She can paint well ?

a) can’tshe b) canshe
c) will she d) must she

e) Answer not known

One always keep his promises
a) Must b) May
c) Can d) Might

e) Answer not known

30.

31.

32.

33.

34.

35.

36.

37.

l inform him about this?
a) Need b) Will
c) Would d) Used to
e) Answer not known
Match it:
A. take off - 1.did as aroutine
B. take over - 2.toremove
C. wentabout - 3.assume charge
A B C A B C
a) 2 3 1 b) 2 1 3
c 1 2 3 d1 3 2

e) Answer not known

Remember brothers walk upon is earth like
this”

a) simile b) metaphor

c) Alliteration d) Paradox

e) Answer not known

Remember, no men are strange, no coun-
tries foreign

a) simile b) Metaphor

c) Repetition d) Alliteration

e) Answer not known

Remember they have eyes like ours that
wake

a) simile b) metaphor

c) Paradox d) Onomatopoeia

e) Answer not known

His cupboard was empty and winter was
come

a) Personification

b) simile c) metaphor

d) Alliteration e) Answer not known
Find out Rhyme scheme.

“Not a crumb to be found

On the snow-covered ground

Not a flower could he see

Not a leaf on a tree”

a) aabb b) abab

c) abba d) abac

e) Answer not known

We ants never borrow; we ants never lend
a) Simile b) Metaphor

c) personification d) Alliteration

e) Answer not known
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38.

39.

40.

41.

42.

43.

44,

45.

Not hurrying to nor turning from the goal,
Not mourning for the things that disappear
a) simile b) Alliteration

c) personification d) Anaphora

e) Answer not known

Find out the Rhyme scheme:

Some water, coal and oil is all we ask

And a thousandth of an inch to give us play
And now if you will set us to our task

We will serve you four and twenty hours a
day

a) Hyperbole b) Assonance

c) Metaphor d) Alliteration

e) Answer not known

We were taken from the ore-bed and the
mine, we were melted in the furnace and
the pit

a) simile b) Anaphora

c) Alliteration d) Metaphor

e) Answer not known

Though our smoke may hide the Heavens
from your eyes

a) Simile b) Metaphor

c) Connotation d) Hyperbole

e) Answer not known

We can neither love nor pity nor forgive

a) Repetition b) Anaphora

c) Mimile d) Metaphor
e) Answer not known
The criminal the place before the

police reached

a) was escaping b) had escaped

c) isescaping d) will escape

e) Answer not known

Find out the error:

Taj Mahal is one of the wonder of the world

A B C D

a) A b) B c) C d) D
e) Answer not known

Who was the step father of Isaac ?

a) Duke b) Industrialist

c) ownerofthemill d) clergyman

e) Answer not known

46.

47.

48.

49.

50.

51.

52.

53.

Find out the error:
This bag is too heavy for lift
A B C
a) A b) B c) C
e) Answer not known

d) D

Find out the error:
He gave me an one - rupee note
A B C D
a) A b) B c) C d D

e) Answer not known
Where does the river spend its younger days?
a) Throughrocks b) through flowers
c) intoocean d) intosea
e) Answer not known
Find out the error:
Sitting near the window and he saw the
crowd

A B C D

a) A b) B c) C d D

e) Answer not known
In the poem “The stick together families”
Where do the gladdest people gather?
a) atthe park b) atthefireside
c) atthevillage d) atthe mall
e) Answer not known

By next year, | in chennai for fifteen
years. (live)

a) havebeenlived b) will have lived

c) will live d) is living

e) Answer not known

“There are rich and poor folk, who imagine
thy are wise,

And they’re very quick to shatter all the
little family ties”

What do the rich and poor folk imagine
themselves

a) wise b) rich
c) poor d) confident
e) Answer not known

Choose the correct synonyms for the un-
derlined words

Nice fun indeed.
b) doubtedly
d) none

a) infact
c) fine
e) Answer not known
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54.

55.

56.

57.

58.

59.

60.

Directions : Find out the type of sentence

Night came on and rain fell heavily and we
all got very wet.
a) simple b) compound
c) complex d) none of these

e) Answer not known

Directions : Find out the type of sentence
With a great effort he lifted the box

a) simple b) compound
c) complex d) none of these

e) Answer not known

Match the underlined words under Column
‘A" with their grammatical function under

Column ‘B’ and select the correct code.

ColumnA Column B
A. Equal status to 1. Adverb
women is a far cry
B. Thetwolive the 2. Adjective
same life
C. Let us hope for 3. Noun
the best
D. She sings well 4. Verb
A B C D A B C D
a)2 1 3 4 b) 3 1 2 4
c23 4 1 d 4 1 2 3

e) Answer not known

Find the odd one of the following words.
a) honour b) wonderful
c) brave d) excellent

e) Answer not known

Find out the verb from the following
a) proud b) clean
c) wiser d) election

e) Answer not known

Find out the Odd Word
a) Often b) Always
c) Along d) Busy

e) Answer not known

In New York Mr Scotti left the plane because
he thought he

a) hadtochange the plane.

b) was in Rome.

c) hadto phone his cousins.

d) had tolook at the airport.

e) Answer not known

61.

62.

63.

64.

65.

66.

67.

68.

69.

On the next day, Mr Scotti was

at how the local people responded to his
queries.

a) surprised b) unhappy

c) glad d) upset

e) Answer not known

Select the correct sentence:

a) Cakes are softer than cookies

b) Cakes are more soft than cookies
c) Cakes are softer then cookies

d) Cakes are soft than cookies

e) Answer not known

Complete the sentence : No other girlin the

classis Kamala.
a) mostcleveras b) morecleveras
c) ascleveras d) most cleverest

e) Answer not known
Pulse + Quasar

a) Pulsar b)
c) Quasars d)
e) Answer not known
Form a new word by blending the words
Splash+ sputter

a) Splutter b) Splatter

c) Platter d) None

e) Answer not known

Spanish + English

Pulse Quasar
Qualse

a) Spanglish b) Sapnish

c) Spangle d) Spang

e) Answer not known

Synonyms of gobbled

a) Hate b) Grudge

c) Ate hastily or greedily

d) Find e) Answer not known

Hellen keller father

a) Arthur. H. Keller b) ArtKeller

c) ArterKeller d) HeartKeller

e) Answer not known

Black + board

a) Noun +Noun b) Adjective +Noun
c) Adverb+Noun d) Verb+ Noun

e) Answer not known
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70.

71.

72.

73.

74.

75.

76.

77.

78.

Teachitin accents and
a) Harsh, mild b) Harsh, loud
c) Soft, loud d) Soft, mild

e) Answer not known

Kalpana was Assigned in STS - 87 columbia
in1996 asa .

a) Mission specialist b) Mission Head
c) Captain d) Protector

e) Answer not known

Pick out British word for American word.
Bonnet.

a) Bayonet b) Hood

c) Engine d) Suspension

e) Answer not known

Miniature paintings depict Indian culture.
(Synonyms)
a) warp b) portray

d) falsify

e) Answer not known

Synonyms of whetted

a) Angry b) Blunt

d) Sharpened
e) Answer not known

c) twist

c) Heavy

Cumulative conjunctions

a) And b) Also

c) Aswellas d) Allthe above
e) Answer not known

Choice conjunctions

a) or b) orelse

c) otherwise d) All the above
e) Answer not known

The painting is done by me

a) Subjective Pronoun

b) Objective Pronoun

c) Possessive Adjective

d) Possessive Pronoun

e) Answer not known

He called them

a) Subjective Pronoun

b) Objective Pronoun

c) Possessive Adjective

d) Possessive Pronoun

e) Answer not known

79.

80.

81.

82.

83.

84.

85.

86.

When Koushik was a child, he play
in the street.

a) won’t b) must

c) used to d) will

e) Answer not known

Synonym of Clamber

a) Walkinan awkward way

b) move in an awkward way

c) Walkina pleasant way

d) Jumpin a pleasant way

e) Answer not known

When was Robert Louis Balfour Stevenson
born on?

a) 16 Nov 1852 b) 14 Nov 1851
c) 13 Nov 1850 d) 15 Oct 1850
e) Answer not known

Lincoln Born Feb 12,

a) 1809 b) 1810 ¢) 1811 d) 1812
e) Answer not known

I make the feet dusty :

a) Summer b) Winter

c) Fall d) Rainy

e) Answer not known

His mother was fired at on a timbered hill-
sidefacing_____ river.

a) Nile b) Chilkat

c) Ganges d) Alpes

e) Answer not known

Identify the correct sentence for the pattern
SVCA

a) |gave him a pen last week

b) He became a doctor at last

c) He made his views clear at the outset
d) You will understand the truth one day
e) Answer not known

Match the underlined words in Column A
with their parts of speech in Column B and
select the correct answer from the options
given below:
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87.

88.

89.

90.

91.

92.

ColumnA ColumnB
A. He walks quickly 1. Subject
B. Reenataught 2. Object
him Hindi
C. Raniateicecream 3. Verb
D. Radhaisadoctor 4. Compliment
A B C D A B C D
a) 31 2 4 b) 1 2 3 4
)41 2 3 d 2 1 4 3
e) Answer not known
Itis good to eat Orange also
a) Peal b) Peales
c) peels d) None
e) Answer not known
She held the in her hand
a) reigns b) rains
c) reins d) raigns

e) Answer not known

Fill in the blank with appropriate homo-
phones.

You can trust Rob, He’s a man of
a) prinicipal b) principle
c) preposition d) position
e) Answer not known

The little dog shivered by the door and let
outa

a) wine b) whine

c) win d) won

e) Answer not known

“Says he, “The mystery I've found

Says he, “The mystery I've found

What kind of figure of speech obtained in

this lines?

a) Repetition b) Oxymoron

c) Simile d) Synecdoche

e) Answer not known

Synonym of pigtail

a) Un braid

b) A plaited lock of hair worn singly at the
back

c) Un twist

93.

94.

95.

96.

97.

98.

99.

d) Straighten

e) Answer not known

“Asia is the largest continent”

Balu said that continent.

a) Asiais the largest

b) Asia was the largest

c) Asiawere thelargest

d) Asia hasthe largest

e) Answer not known

“I' have been watching a film.” He said that
afilm.

a) he had been watching

b) he have been watching
c) hehasbeen watching

d) hehaving been watching
e) Answer not known

Norman little ford died in 1947.
a) May 18 b) May 19
c) May 20 d) May 21

e) Answer not known

Robert Frost realistic descriptions
a) city life b) ofrural life
c) cultural life d) Fragment of life
e) Answer not known

Henry Van Dyke was died in

a) 1933 b) 1934 ¢) 1935 d) 1932
e) Answer not known

Edgar Albert Guest poems often had an in-

spirational and of every day life.
a) Optimistic view b) Pessimistic view
c) Routineview d) Hard view

e) Answer not known

Sir Arthur Ignatius Conan Doyle died in

a) 1928 b) 1929 c¢) 1930 d) 1931
e) Answer not known

100.Nathaniel Hawthorne was born in July 4,

a) 1803 b) 1804 ) 1805 d) 1806
e) Answer not known
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101.

102.

103.

104.

usd - Oy /PART - B

Who implemented Poondi Drinking Water
Reservoir?

a) Kamaraj

b) Sathyamoorthy

c) Rajagopalachari

d) Annadurai

e) Answer not known

LpsTTle TS0 BB SbSCHHE55MS
SLBUSDHSTEN S50 O\FUIOLIBSSUI6UT WIMT?
b) ssw ewiss

C) @unsGanuneonsemfl d) iesorevomgieny
e) eflewL e\BMwefleoemen

Who is the kadaiyezhu vallal referred to in
this Siru Paanaatrupadai verse?
“Muttathu kodutha munaivilangu
thadakkai

Thuli mazahai pozhiyum vali thunju
nedunkottu

Nalimalai Naadan ..................
a) Paari b) Kaari
c) Nalli d) Aai
e) Answer not known
“PLLIG) O&TBES PTENOThG SLSDES

a) ST

gleflemip LMD euerflgiehs: OBBHIGHTL B
[BETILDEWED [BITLEDT ...vovveceeneee "

- @sdpunenmomiiiuenL urLed eurflsefled
SLIDOLMILD HEWLEWLI(LD 6UEITEITED WITT?

a) um b) &mfl  c) metefl d) Spul
e) eflenL OgMwesbeneo

The third sangam at Madurai was founded
by

a) llamperuvazhuthi

b) Mudathirumaran

c) MuthukkudumiPeruvazhuthi

d) Nedunchezhiyan

e) Answer not known

ELPEITDITEUS)| STHISSEMS LDGlewTufed Bmiefuieur

a) @mbeupaws b) wLsSoomst

€) WEBEES OLBWS

d) om@ersus €) eflenL igfwesdenso
The Ghadar Party was formed by Lala Har
Dayal in the year 1913 in

a) America b) Russia

c) Japan d) Germany

e) Answer not known

105.

106.

&SI SLSemW 60MeOT QI SWMed 1913-60 61H5

IBITLIQ60 EYSITLIHIS 6MEUSSTIT?
a) Sewhsen b) meiewn
C) eliumesr d) esrpef

e) eflewL e\FMwefeosmen

“Call that a gift to needy men thou dost

dispense,

All else is void of good, seeking for recom-

pense.”

The meaning of “seeking for recompense”

according to Thiruvalluvar is

a) To pity poor people

b) To follow virtuous path

c¢) To return the measured goods
borrowed from neighbours

d) Feeling of greatness

e) Answer not known

QUPWLIMTSE\&T6ITH) F6UGSH FEMSLDMH 6YNELEVITLD

eMawdienu B slenLss)

8&&DLumeiled “efawdiieou”

SHEUETEHEUIT 2_6WILILIG)

a) gempsefiLb UesLD O\STETEHS6

b) Smweuf mLsz60

C) StetorenL efiiLmfiLb Sierey GMGE eunhid

67 60T

EILINHEWENTS S(HLOLIS S\SHMT([BESH60
d) ewumenw OsmeTEmse0
e) eflewL e\FMwefeosmen
Lok sabha speaker Om Birla has launched
the official mobile application of the
Parliament named . 1t will allow
Indians to access live proceedings of the
house, observe Union budget 2022 in live
mode.
a) PROOF APP
b) MANAS App
c) Digital Sandad App
d) E-Chhawani Portal App
e) Answer not known
D&SHETENEIEF SLIMBMLST QD LATeom, ............
eTeTLILBLD LUMTMEBL6T DSBS HSSHMTLILY TN
aFwelenw SIMpsLILGSSeoTTT. 2022-Bpld
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107.

108.

109.

SpeuTig a6t oGS Hdlest BHBemed Sin&ens
SN&H&HE0 2 _I'LIL LTITEHLDETDSS6 HED6oTSS)
BLEIRGENSSHEDETU|D GSQD&&H6T GHIQUINS
STRLSDS BbS 61& W aULNUSSESLD.
a) Uemesl ewed (PROOF APP)
b) wnesme zwed (MANAS App)
C) 1gedL 60 setras \ewed (Digital Sandad App)
d) @-seunesfl GumTiLed O\FWIEN
(E-Chhawani Portal App)
e) eflewL 15 iweflcoeneo
If a person moving from pole to equator,
the centrifugal force acting on him
a) Increase
b) Decrease
c) Remainsthe same
d) Increase andthen decrease
e) Answer not known
Rh DevlFEsT &IHEUSSeOlBHSI BeobB&CSHTLemL
Grp&:d euBLOELINE) i6u6sT BGLD6D E\FIEOLIBLD MLDU
6fl6ev5:& eflema eTeveUTN SHSHGSLD?
a) SBsMa@id
b) @smuib
C) LMPMDE GHSHSLD
d) oidsfse 96t GewDWID
e) eflewL g iiweflcomeo
According to Hooke’s law
a) Stress o strain
b) Stress =E x strain

strain

c) E=
stress

d) Both (a) and (b) are correct
e) Answer not known
amnrs eflSuiledr Lig
a) sewaey o Sy
b) semsey=E xSy
Sy
W&

c) E=

d) (a) wpmibd (b) Greto@Ld &1f

e) eflewL g ifiweflconeo

Periyorai Viyathulam Ilame;
Siriyoraiigalthal athaninum llame;

What is the first line of this purananutru
padal?

a) Yandu Palavaka Naraiyila Aaguthal

b) Thenkadal Valagam Podumai Indri

c) Yadum Ure; Yaavarum Kelir

d) ieyenairathalilinthandru; Athan yethir
e) Answer not known

“EufGwenr eNwgseIb GeoGLD ;

AMCWITenT BHLpSH60 isevlienid SeoGL” . - 6wt
APIQUILD LMBTERMDMILI LIML65l65T (P560 Siig 61517

a) wneso® Lieveurs HenTuleo Obh&SHe0

b) esetursLed euenmab E1LINg e S6dT)

C) wngb 2enBy ; witeu(BLd GaerfiT ;

d) reer @uss60 SYPHSETNI; A6t G

e) eflenL OgMweNsbeneo

110.How do the Chief Minister of a state and

his/her council of ministers can be re-

moved from office

1. Breakdown of constitutional
machinery in the state opined by the
Governor

2. If the Legislative Assembly of State
passes a no-confidence motion with
majority

3. If both the houses of Legislature of
state passes the no-confidence motion

4. Parliment can pass an emergency and
remove the Chief Minister and his
council of ministers.

Choose the exact ‘Codes’ given below

a) 1and 2 b) 2and 3

c) 3and 4 d) 4and 1

e) Answer not known

@I LDMB6d (PHEONEMIDFSF(HLD NHEUTH| HEDLDEFSIT

Slewauwb ereueumm UgeNuledmbg HasLluL

@lub?

1. Sbepmlent smsHeiiue DM B60SH60
SITfluied StemIDLIL| BWIHHILD 2L EUSTE0

Sl

E\LIBLDLIMETTEWDU|L 60T HLDLNGEmE SITLDM6uTLD

2. bmBeo FLL Fewuuileo,
1BemmGeunMLILILL 6D

3. nBevsded 2 etem  FLLSFMLUN6D 2 _6iToT T
SlemeUU|LD BLDLNGEmS 6060 SITLDMETSmS
6\LIHLDLIMEBTEmLDU|L 65T [BemmGeubnievted

4. BILTE@HDETD SNEUFTSH SM60 EHIHSSIQ
FLLSWS BewmGeaumn) mBeosLett wpsed
ONMDEFFTNOULD  HUTH — HDIDFEFT
SHEDEUEHWILLD (58S (LpIQULD.

SLp&s60TL Fflwinent eTetnseneT CHHE\SB&HS.

a) 1wpmub 2 b) 2whmb 3

C) 3whmrb 4 d) 4 whmub1

e) eflenL OsMweNsbeneo
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111.

112.

113.

114.

115.

The annual rate of growth in population of a
town is 10%. if is present population is
26,620, then the population 3 years ago was
R BHTSBEIT LDEHSHETEVSTENS ShewoTBBSTMILD 10%
ddisb SPsfsdns. g6 sSHEUTMSHW
LD&SETEOVHTENS 26,620 6l6vfled, 3 SpetTBHEHHES

(LPEIT LDSSH6ITESHTENS DbGSLD
a) 20,000 b) 19,680
c) 21,320 d) 13,320

e) Answer not known / eflenL e\gflwefisbsneo
A camp had provisions for 490 soldiers for
65 days. After 15 days, more soldiers ar-
rived and the remaining provisions lasted
for 35 days. How many soldiers joined the
camp?

R WSO 65 B SHEH&E 490 eiIiseEns@L
Gumgoment Weflewall OLMIBLS6T RHHS60. 15
BT &EB&HGL! LIN&, GLOEYILD Li6v 6HTTE6IT LPSTLDE
aUbSSev, GLO\HHES LDerflensLl ELITIHL SIS
35 BIL&EHSES LI BE CUNGIDTETSTS QB HSSI
e16vfl60, 615G6metT 6iITa6IT LPSMLB6L G THSEDTT?
a) 120 b) 490 <¢) 700 d) 210

e) Answer not known / flewL a\gifiwsfisbeneo
P, Q and R have a total of 210 marbles. P
has one fourth of the total number of
marbles with Q and R. Q has three fourth
of the total number of marbles with P and
R. The number of marbles with Riis

P, Q wihmib R Spw ewpeurfiLib Ewbnggione 210
Gaedls G a6 2_6iterent. Sisubmleo Q omid
R o8GunfiLib 2 eten Wwnss Geor@s6fieo
Brendeo @m umG PulLawpw, P wpmwb R
SpBCWIMflLApD 2 66T OIDNGSHS GevoTBS6rfled
IBetTde0 epetim) Lkid Q eflLaplb 2 siterrent ereufled
RudlLib @_eiter & etor®Gaserfletr ersvorsvoflgemas

a) 64 b) 68 c) 72 d) 78

e) Answer not known / eflenL e\gflwefisbsneo
Find the least number that is divisible by
the first ten natural numbers.

WPS6D 10 w6 eTevurasened LESuTetT) euGLILSaaleul
Ml eTevor 615,/ ?

a) 2520 b) 360 «¢) 210 d) 1250
e) Answer not known / eflenL e\gflwefiébsneo
If HCF of two numbers is 8, then which of
the following can never be their LCM?

116.

117.

B aeseflett 5.6 1um.eu. 8 erevfled SLpaaH6v0ML
ersuorgafled eTbg eTevor Sleupnett 15.4.10. s
B®5S WPlRUING?

a) 24 b) 48 c) 56 d) 60

e) Answer not known / eflewL a\giflwefisbsneo

Which day would be observed as
Tamilnadu day?

a) June13 b) July 18

c) April 14 d) May 07

e) Answer not known

SLODBTG SHevTLDNs 617G BeT SHensfeHasILGLD?

a) erein13 b) eremev 18

d) eno7

e) eflewL e\BMwefeosmen

Consider the following statements regard-

ing NRI’s Voting Right. Find out which is

wrong.

(i) NRIs canvote in parliamentary as
well as assembly elections

(ii) Only EPIC issued NRIs can vote

(iii) Original passport should be shown at
the polling booth

(iv) NRls can vote through postal bal lots

a) (i)and{(ii) are wrong

b) (ii) and (iii) are wrong

c) (ii)and (iv) are wrong

d) (iv) only wrong

e) Answer not known

eeuefiBn® eump rpSuwiiserfles ansalend Giflss

C) eatiped 14

SLDSSHEWIL SaDMISHEDET SHeletlleHeayLD.

i) GeueliBNG eumd SHSWITEET HILTEHLOESTMHLD
woHmid wrBeo &FLLWeTm Gisevs6rfled
6UM5:&61fl & &60MLD

i) euN&&TeTT SeMLWITET SiL6DL CUPMRISLILILL

aaefipn®@ emp rpHwiser WLLGEGWD

eun&&6rfl&a (Lplgu|Ld

ans&E &meuguiled dHFD SLOEFLB

STeuoT &S LILL CeuetorBLD

aauefiB® eump HHWITS6T FLTED eLPEOLD

aunsserfl&seorb

a) (i) wipis (ii) s

b) (ii) g (iil) seupy

c) (i) wpmub (iv) seumy

d) (iv) wr@b seum)

e) eflenL OgMwesbeneo

THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 7550352916 | MADURAI 98431 10566



118.

119.

120.

121.

Above the curie temperature, a magnetic
materials become

a) Ferromagnetic b) Paramagnetic

c) Dia magnetic d) Ferri magnetic

e) Answer not known

supfl QeuliLBenens@ Ged &Mbs LIMIBHLEET
................. & QMH&HSLD.

a) ewrGomanmhad b) ungm EMHED

C) emwrsmbgd  d) ewif snbsb

e) eflemL O\sflweileosneo

The people characterised by short stature,
dark chocolate brown skin, wooly hair, bul-
bous forehead, broad flat nose and slightly
protruding jaws belongsto  race

a) Proto-Australoids

b) Negritos c) Mangaloid

d) Nordics e) Answer not known
GLewLWTeT 2w, &L FrsGeL  [Bm
UELILSGsmed, sibuel i, LISOL QBH, LITHS
SLEOLIITEN ¢Lp&& LDOHMID FDHM) Bl6S STenLS6IT
SpBWUDDITEL QUEHSLILIBSSLILIBLD LDES6IT

a) YGomLGLI-SpehL meomiiL 6o

b) B&MGLre
d) mmmesen e) eflenL O\ Mwiefleveneo
Mawsynram, the place which receives
highest rainfall in the world is located in
_____ stateofIndia.

a) Mizoram b) Nagaland

c) Tripura d) Meghalaya

e) Answer not known

260860 SiH& LDEMLP EILITHLD L LDIT6VT EILD6ITS6ITIITLD

C) IDrRIGETIUIL 6N

SiewLDIB 6T b LDTBeOLD
a) WGsmID b) mreeonkea
c) Sfyom d) Guwsmreowr

e) eflenL O\sflwsileosneo

Consider the following statement

1. Micro enterprise, where the invest-
ment in machinery does not exceed on
crorerupees

2. A small enterprise, where investment
in machinery does not exceed ten crore
rupees

3. Amedium enterprise, wher investment
in machinery does notex ceed fifty
crorerupees

4. A micro enterprise wher the invest-
ment in macheinery does not exceed
two crore rupees

From the above staement, which are

correct?

a) 1land 4 b) 1and 3

c¢) 1,2and3 d) 3and 4

e) Answer not known

LNesTeU(hHLD Saihemm SHeu6sllss

1. &m asmfnereneouied, SwibHomisefleo
WPS6OB KB CHIMQ CHLIMEHWI SHTEHITLF0L TS

2. dm agsmbenensouisd GuirbSmiserileo
WPS6OB LSG| GaMQ eHLITEMI STETOTL SF6L TG

3. BGssT OEMfibareneouied, SuibSomiserleo
WSS 2LDLIG GaTig HLITEDLL STETITLSFaLTE|

4. &M 6 smPbameneouied SuibPmiserieo
WwsSG Brewr®

STV GELITE.

Gami eHUITemWl
BLoG61 SHevuTL EUMMIET 6T6M6Y FrflliTenT Fabm)?

a) 1whmib 4 b) 1whmib 3
C) 1,2 whmub 3 d) 3 whmib 4

e) eflenL igiweficosneo

122. The basis of life is

a) Amino acids b) Proteins

c) Lipoproteins d) Nucleicacids
e) Answer not known

2_ufirfledT SHIQUILIEML ELPEOLD ETEITLIZ)

a) OCETT SHLeOMRIH6IT

b) yosmser

C) esmwliy yIsmhiseT

d) Bupsefls Sfeoruser

e) eflewL e\BMwefeosmen

123.Assertion (A) : NeGP vision of TamilNadu

is, “Making all government services acces
sible to the common man in his locality.
Reason (R) : Through common service de-
livery outlets and ensuring efficiency,
transparancy and reliability of such service
at affordable costs.
a) (A)istrue but (R) is false
b) Both (A) and (R) are true and (R)
is not the correct explanation of (A)
c) Both (A) and (R) are true and R is the
correct explanation of A.
d) Both (A) and (R) are false
e) Answer not known
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124.

adluypsse (A) : swe Sipder unTae

Slev6vg| CHM&HSLD 6165TLIG FNGMNIT6oT LD6vHS60m

Oipdlett  Cremeusemer  deueir  GleuilBLiy

eI LMISSCCW eGSO ThUTG C\FI6S).

sngewrd (R) : eungeGeemer emwwhiser

epeoLdTs:, HobULeyb, SeueflliLepLwingea,

[BLDLISSSEIENLD C\SMTETLSTSHELD, &L BLIQUITEGLD

6fleweouTNeYILD EULPMHIGS6D

a) (A) e_storemio Spevrmed (R) seumy

b) (A) wibmib (R) @retor@ib 2_storemio wibmutd (R)
arettug) (A)saneo sflwne eflenésLleoemeo

c) (A)wboub (R) Sresoib 2_ssorsmip wibmib (R)
etetrug) (A) ssnes sflwneo eflenésd

d) (A) wbmib (R) BoesorGd seumy

e) eflewL e\FMwefeoemed

The work done by the conservative force

for a closed path is

a) alwaysnegative b) zero

c) always positive d) notdefined

e) Answer not known

epigul SHNN6d SHLfefedevIT 6fleMEFUITED QIFUILILILILL

GoUEMSD ......... DG LD.

a) eleLNWSID aiToenn

b) &

C) eIGUNEID GHBITDEDD

d) eumpumissILLEfedmED

e) eflewL e\BMweieosmed

125.What helps to find the truth of things in

126.

“When folly, cause of births, departs; and
soul can view
The truth of things, man’s dignity.

tis true.

Pirapennum pethamai Neenga
Sirapennum

Semborul Kanba

a) Love b) Wisdom

c) Renunciation d) Penance

e) Answer not known
LIDLIOLIetTEnILD CLIEDEEMLD [Briiss SDLIELIETERILD

6\FLDEIMIHEIT SHTETOTLIG
a) ety b) omey
C) simey d) seub

e) eflenL OgMweNsbeneo

Who is the author of the book ‘How to
avoid a climate disaster the solution we
have and the breakthroughs we need
2021’

127.

128.

129.

a) Billgates b) AswiniBhatnagar
c¢) RCGanjoo d) Sagarika Ghose

e) Answer not known

‘How to avoid a climate disaster the
solution we have and the breakthroughs
we need 2021’ a6trp Ussasder SpAwiT
wnm?

a) 1960GaL 6w
c) R.C.setra

b) Sisveflesfl L mBsT

d) sammienr Gameie

e) eflewL OB Mwefeosmen

Why did the poverty eradication

programmes have limited success?

a) Deficiencies in wage employment
programme

b) In-built limitaions of the strategy

c) Unsatisfactory performance of
development administration

d) All the above

e) Answer not known

amiend R SLL ST 6T GmIBW Slemsfled

DL (BLD QU EIMMewT?

a) Geuemeo eumiii SL migerletr GewMUT®

b) 2_sitenmibg SiplILEBL GedMLNBEST

) Suiuemfseflst Biieunsgdeo gbuLL O\Gmiley

d) GwGeo @M L SievesTSEID

e) sflewL e\BMwefeosmen

A sum becomes 34,500 after 2 years and

36,750 after 4 years at compound inter-

est, then find the sum.

gl elllp Wemmuled QI \FTMSHWITETSH 2

DpeTBE6MEd X 4,500 Spsayd 4 SeTTBsesd

36,750 Dps6y1b SemL 6808 6Telled AibS OSTHs:

6T60T60T?
a) 34,000 b) 32,500
c) 33,000 d) 33,050

e) Answer not known / eflenL e\gflwefisbsneo
Find the simple interest on Rs. 5x%y? for
4xy years at 7y% per annum.
Rs. 5x%y? & 4XYy Spetonen@ 7Y %selisib seufleurie
SITEH0TS.
Z 3.4 Z 2.3
a) XY b) Y
4 .33 4 504
c) XY d) XY

e) Answer not known / eflewL aisflwsficosmeo
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130. Anita takes a loan of Rs.5,000 at 15% per

131.

132.

133.

134.

year as rate of interest. Find the interest
she has to pay at the end of two year.
Slellgm erevTueuT 15% 6eulle eliggdeo ab. 5,000
SLEOINS QUMBONT. 2 eudbL wpigefled Dieur
61FQYSHGILD CULIQ E1HTEDS; 6T6UEUETEY?

a) 1,000 b) 1,300

c) 1,800 d) 1,500

e) Answer not known / eflenL a\gflwefisbsneo
The scientific name of asian elephant

a) Elephas axis

b) Elephasradiata

c) Elephasdometicus

d) Elephas maximus

e) Answer not known

S wimemestuedr Snflefuied Gt

a) emeoLie SpAsv

b) eeds.Len GmeGuirLm

C) eedlliLehy EILMLDsMIQS:6M

d) eredlLsh Gosserdipei

e) eflewL O\giweflcomeo

Who introduces the Annual Financial State-
ment (Budget) in the Parliament?

a) Prime Minister

b) President

c) Finance Minister

d) Cabinet Secretary

e) Answer not known

Sp60010 B SN EGHEMSEMIL, LINTMETHLDEITDES60 Wit
SINMNWPSILIGSSHBOTT?
a) 9gsw wiESM

C) B8 s

e) eflenL O\siflwefleosneo

Harihara | organised the country into
sthalas and nadus on the model of

a) Mughals b) Turks

c) kakatiyas d) Hoysalas

e) Answer not known

WP360MLD @MIflQMIT S60T HITLEML, SVGEMBISETTSHE|LD
BIESeTNSa|D 6hg nSifulledr ApliLienLuied
RPMHISHEMLDS ST
a) apseomurt

b) memsus

d) seneoemip O\FweomarTT

b) simadwr
C) smaSwir d) esmismemt

e) eflenL O\siflweileosneo

Name the Mughal ruler who was defeated
by the British East India Company at the

Battle of Buxarin 1764

135.

136.

137.

a) Akbar b) ShahJahan

c) ShaAlamll d) Aurangazeb

e) Answer not known

1764 ugegni Gumfled SpmBGeowl Sp&BHIw

seueflwme GCHThHERSSLILLL  (LpSHEOML
LetTevTIfl6T EWLIWEmT GSMILILNBS
a) SsuI b) egmesnest

C) SU6RTLD 61T Sp60LD

d) eemgrisdl e) oL O\ Mweeveneo
Which charge configuration produces a
uniform electricfield?

a) Pointcharge

b) Uniformly charged infinite line

c) Uniformly charged infinite plane

d) Uniformly charged spherical shell

e) Answer not known

6TThS LIETTERTLL [BEmeDULIEHLDLIL| ETMeDT LAGTLIS0S 6
2 _([HEUTGHGSLD?

a) yeiterll etTERM L LD

b) &meor WetTemm LD OWLIHD (pigsfleor HLbLA

C) &gmewt LOGHTERTLLLD 61IHM (Lpigsieor FLogeniD
d) Sonew letren LD OWLHD Caenss: sa®

e) eflenL OgMwieNsbeneo

The AMRUT Mission in Tamil Nadu focuses
on

a) Provision of basic services

b) Milk Production

c) Ruraltransformation

d) Education

e) Answer not known

“iLLed  mETEdwLY  WLHMID  BSTIYD
wrhnsdhanen &w sulbmmrgsst AMRUT
&6t GBS

a) SiliLeL eusSE6T HHEUG

b) umev 2 puss

C) 2emps LIGSSEDET AHI HEDLDESSED

d) sevefl

e) eflenL OgMweNsbeneo

Human Development Index is constructed on
the basis of

l. Life expectancy at birth

ll. Standard of living

lll. Educational attainments

IV. Morbidity
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138.

139.

a) I, Il and lll are correct

b) Ilandlll are correct

c) llland IV are correct

d) I, 1, llland IV are correct

e) Answer not known

weslls GLLUMLGES SGHIUIG SpeumeueeummieT
615607 AlQLILIEMLUT6D ©_(Heun&aLILILBeiTermg)?

| eumpBmeT(@hwL smeoLd)

Il. eumpsens b

ll. s6vefl 35S

IV. Gomuybm sestemip

a) |, ll opoud Il &fl b) 1 whmubd 1 &

c) N womub IVed d) |, 11, [l wpoud 1V &
e) eflewL e\Bwefeoemen

The principles are included in
the Articles 38, 39, 41, 42 and 43 of In-
dian Constitution. Which are related to Di-
rective principles of State policy?

a) Gandhian b) Socialistic

c) Liberal d) General

e) Answer not known

Sipdlett QBOAPEDMS E\HMTETENSHHEN6ITE C1SHTEHOTL
8w SipfweosmipiiL], sfldser 38, 39, 41, 42,

womw 43 61& ITEITEM & ML
eeuefiLLGSgIdesTment.
a) snpPwens b) &wsiio

C) snogmeteuns d) ewungeunes

e) eflenL OsMweseneo

Regarding the Indus Valley Civilization, con-

sider the following statement.

1. Itwas predominantly a secular civiliza-
tion and the religious element though
present did not dominate the scene.

2. Duringthe period, Cotton was used for
manufacturing textiles in India.

Which of the statements given above is/

are correct?

a) 1only b) 2 only

c¢) Bothland2 d) Neither1 nor?2

e) Answer not known

fbg sweeuafl Brafan ubPw Sp&semrL

sabNev 18 Fflwines sabmI? Csiiey O\FUIS

140.

141.

142.

1. sl
(PSETEODWITENTSHTE SHTEwrLILILLG|. GLDeY|LD
DSOS R GUIGID FUPSTUSS60
Ob&BML&S6606m60

2. @saneusdeo Rejells  OFTHDHFTEHEO
2_HLSSUTN6d LHSS (WP&HSW LIS 1S5S

a) 1L @D b) 2wr@Eb

C) 1whmib 2wrEw d) 1b Geveweo 21b Geoeweo

e) eflewL e\FMwefeosmen

DSEFMTLMHMD Br&flsLD

Which of the following planet rotates from
East to West?

a) Earth b) Jupiter

c) Mars d) Venus

e) Answer not known

SpsneTLaIDMI6T 61hs SI&L SH&Be0mbHE
GH& CHTeE SHMILD?
a) yw

C) eFsueumi

b) efwmpesr

d) eeueierf

e) eflewL eFMwefleosmed

Which mission endorsed the plan for a

Central government with limited powers

and relatively strong provinces having con-

siderable degree of autonomy with all the

residuary powers?

a) 1946, Cabinet Mission

b) 1942, Cripps Mission

c) Constituent Assembly 1949

d) Simon Commission, 1928

e) Answer not known

esTeuBLD 6P G 6WW TS 6uedlemid

GSMDAUTHE|LD DTH6d JHTHSHET HSSTILDT6OT

&5bSI5CHTBLD O\FWeLLIGaUSNES 5D L 517

a) 1946, Galer LeflsEw

b) 1942, &filev uewflls@w

C) Sigdwed sMFeT EDLILGSW, 1949

d) emswett SpemevonLiD, 1928

e) eflenL OgMweNsbeneo

“ECLGS” schemeisa

a) Emergency Credit Line Guarantee
Scheme

b) Emergency Credit and Law Guarantee
Scheme

c) Emergency Credit and Life Guarantee
Scheme

d) Emergency Credit Loan Guarantee
System

e) Answer not known

m THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 7550352916 | MADURAI 98431 10566



143.

144.

“ECLGS” 8rLib etetrLigy

a) DleusTETES SLENT 2_SSTONGS SULLD

b) Sieusnssneos sL6 HMID L 2_SsTauTEs
SLLID

C) Slusgssnensd &LET WLHMID  DpW6r
2_SFI6uNss SULLD

d) Seusganes sL6 2_sErauTs SlenbLi

e) eflemL O\siflwefleosneo

Consider the following statements:

. CO,isgreen house gas, itincreases glo-
bal warming

Il. CO, absorbs infrared radiation

Which of the statements given above is/

are correct?

a) lonly b) Ilonly

c) landll d) Neitherlnorll

e) Answer not known

LNetTeu(BLD FoDmISHEDaT SH(BSH60 S\SHT6TE

l. CO2 LIG6WLD 606D 6UMLL, 2608 E16ULILILDITEHEWED
Sigsflsdms)

Il. CO, Sissdlauliy &gt disasmer miss
\&TETEMGI

GhsamiweumbmieT Flwnesg) e15|/6Temeu?

a) |lwr@on b) 1l @b

c) | whmub Il d) @uem@eosmen

e) eflewL 15 iiweflcosmeo

The sources of Non-Tax Revenue are

I. Earnings from public enterprises

ll. Escheats

lll. Sales tax

IV. Cess

From the above which are correct an-

swers?

a) llandlll b) land IV

c) landll d) llland IV

e) Answer not known
eurfl &ngm eudHEUTUIEIT SHSTITRIGETTEUEDT:

l.  ewungsgiemmn Breuesmsefer umeumiissi

Il. gevor Sitemeu

1. efbhueneor eurfl

V. eg6v

BLoB6 SHETTLEUDMY6IT 6Tem6 SrilLimewT 65l6mL&6iT?
a) |l wpmuo Il b) | whmb IV

c) |whmub Il d) I wpmubd IV

e) eflewL \gfiweflcoeneo

145.

146.

147.

148.

Which of the following statement/sis/are
true in respect of lightning?

(i) Heated air sends shockwaves

through the atmophere

(i) There must be a mechanism

present to start rotation

a) (i)only b) (ii) only

c) Both (i) and (ii) d) None of the above
e) Answer not known
W6TETTEmed  ILIM(HSS6UMNl6d
SabmIs6rled 615 2_6GoTemLDUINETE)|?

N etT6U(HLD

(i) sLmewr &mbm  eweflbeorLeod  euflwins
SNBTEUHEOHENET HHSDILILIBDS).

(ii) sphAewws OSTLRIS R CUNLPEDD SHES
Geuetor(BLD.

a) (i) wrew

b) (ii) @b

O (i) wpi (i) Srsnn

d) Seubmleo ergieyieoeneo

e) eflewL e\5Mwefleosmen

If 48% of 48 =64% of z, thenz=__

48 @6t 48% = 7 @6it 64% erevfled, Z bt LDSLILY
DGLD.

a) 64 b) 56 c) 42 d) 36

e) Answer not known / eflenL e\gflwefisbsneo
In an examination, a student scores 3
marks for every correct answer and loses
one mark for every wrong answer. If he an-
swers 80 questions in all and gets 160
marks find the number of questions he an-
swered wrongly?

@@ Caieul @aeeunm sflwner sflewL &G 3
LDSLIGLIETT LMD, Seummest eflenLwlerflgsmed 1
wduauenr @&BEoni. 80 eflernssEnHsE&
sflewLweflgs Gaieut 160 SLIGLI6TT QLIMISHIT
erevfled el Heupns eflewLieflss eflevrnaserfledr
6160060016608 6T60T60T?

a) 20 b) 40 ¢) 60 d) 10

e) Answer not known / eflenL e\gflwefisbsneo
How many 3 digit numbers are there which
are divisible by 9?

9 9H60 EUGSLIBLD ePETNN60SHSH UI6D 616001 6T
GIDITSSLD ETSHSHEM60T?

a) 99 b) 101 ¢) 90 d) 100

e) Answer not known / eflenL e\gflwefisbsneo
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149.

Inthe series %%%, .... what will be the 6"
term?

123

33 er6tTm QWSMLIT eurflemsuiest 6 Speug
2_MILIEWLIS SHT6T0Ts.

A~ b d5 d->

e) Answer not known / eflewL aisflwisficosmeo

150. The Hindus and Muslims as “Two eyes of a

151.

beautiful bride of India” was described by

a) sirSyed Ahmad khan

b) M.A.Jinnah

c) AgaKhan

d) Syed Wazir Hussain

e) Answer not known

8BgsEpd WwHMID  wevedSbaebd BB

LDEDOTLIG)LI6UOT600f 65T HLD&HT6oT BT600T(H & 600TSH6IT

61601 BU(HETTISS6UT

a) & swulg SisLDg) Sest

b) M.A.gdesrevrnt

C) i snedr

d) sunig eudiansenssst

e) eflenL OgMwesbeneo

Which one of the statement is not correct

regarding the Trichy Proclamation.

i) The Proclamation was published by
Marudu Pandiyar.

ii) It created a confidence among the
people

iii) It not revealed the national feelings.

iv) It condemned the political activities of
Carnatic Nawabs and Muhammad Ali

a) (i)only b) (ii) only

c) (iii) only d) (iv) only

e) Answer not known

Sps:aerTLeuDM60 HHEd LNTSL6vTLD LD Seumimest

gabm) 6157

i) @ulrsLesb LD (5G] LI 60T IQ UI T & 61T IT6D
eeuerfluf i L g

i) 8ulrsLenD WE&HEHHS HOLIGMEmW
TDLGSSLSI

iii) YrsLeord Gadw
eeuefILILBE56U5T8 SHemLDIEN606m6D

iV) SphaET®G meuTl HMID &g Hedulesr
STfwed BLOIRSMSSHMET GLILNTSEHL60TLD

SEUTRESHE)

8155 6 60T 6

152.

153.

154.

a) (i) wreo b) (ii) wr@wb

c) (iii)wr@o d) (iv) @b

e) eflewL e\FMwefeosmen

Who gave ‘Atchayapathra’ (Perenial Ves-
sel) to Aaputhiran?

a) Sindha Devi

b) Manimekala Deivam (God)

c) Kannaki

d) Madhavi

e) Answer not known

OLFHBTEVIHS SHLFW LNSHILD Herflgzeur?

a) dibsn Gaefl

C) sevorevond

b) wemfGwaeor e\gueuDd

d) wngef

e) eflenL OgMweNsbeneo

Theme of the world

development summit 2022

a) Towards a Resilient Planet : Ensuring
asustainable and Equitable feature.

b) Redefining our common future : safe
and secure environment for all

c) Towards 2030 Goals: Making the
decade count

d) Attainingthe 2030 Agenda : delivering
on our promise.

e) Answer not known

sustainable

2022-6t1 2_eoseTneflw Bemeowimesr GLOOLIML®B

© 54| LDMTBTL Q6T SIHLIEILITIHET

3) oo opdnane drssms CHTES : @
[BemevIWITEDT LDHMILD FLDLDITEU 6IBT&HTE0SH6WS
2 mid O\FUIFHE0

b) s
LDMICUEDTWIEND EFUIHED : HEDETEUHESLD

6\LIT &) 6T 60T DENET M T0F:
LIMGISTLILITEDT LDMHMILD LITGISTLILITEDT &5LD6D

C) 2030 @&@aHMmeT CHN&HSE : SEMISSS60
6T600T60011S6MSHEMIL ©_(HEUMESSHE0

d) 2030 Bapsd Breweo AHDLGED : ETHRISET
an&GnISemw BennGeubm|seo

e) eflewL e\BMweieosmen

It is difficult to walk on ice bar because

a) Pressure is high

b) Frictionis high c) Pressure is low

d) Frictionislow e) Answer not known
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155.

156.

157.

158.

e sl puiett 15g HLULG SO SmHeHELD
eI6\6uT6nfled

a) WSS HE&IDNs BHEHGLD

b) 2 mmiey Sifswns Smeeid

C) DWSSLD GEODEUTS BHEHGSLD

d) 2_pmie Gemmeuns Q&b

e) eflewL \gweflcosmeo

Find below the text not written (Sang) by
Namazhvaar?

a) Thiruvirutham

b) Naanmugan Thiruvanthathi

c) Periya Thiruvanthathi

d) Thiruvaimozhi

e) Answer not known

SLPSHBTETITLIEBTOUMNINED [BLDLDIMLDEUMIT LIML T [HIT60

a) Bweimssd

b) mremepssit Smeubsns

C) owfw Smabstd

d) smemiawms

e) eflewL g ifweflcosmeo

Sir Martimer Wheeler discovered a Roman
factory at

a) Adichanallur b) Arikkamedu

c) kaliyur d) kanchi

e) Answer not known

Gomwnesflw OSMPHEFTENEOEMW LDMTIQLDIT 660
SerBLes5s SLID

a) Spdssmeoqyni  b) SiM&sTGLG

c) sefluyi d) snepd

e) eflenL O\siflweileosneo

Settled type of cultivation is also called as
a) Sedentary farming

b) Terrace farming

c) Intensive farming

d) Commercial farming

e) Answer not known
Bemeowinest 6uens CeueTTelTemID _
SimPSHLILGEDS)

a) @LefiLng efleusmuib

eTetTm)

b) 6w emLiome sfleusmuid

C) QMBS wWenm efleusmud

d) euemfls sfleusmuid

e) eflenL \giwefleoeneo

Hiuen-Tsang visited Kanchipuram during
the period of

a) MahendraVarmal

b) NarshimhaVarmal

159.

160.

161.

c) Rajashimhal

d) MahendraVarmall

e) Answer not known

W|EUMEST &HeUMml WTHedLW Dbl H& &T60sH60
&MehdI TSNS eUHens Lfibgmit.

a) pseoMD GEHHSTEUTDEHT

b) wpgeomb mrdibioeurioest

C) Sune Aibipsir |

d) @pewrmb wEaESTeuTLDEsT

e) eflenL OgMweNsbeneo

Under which Article, the parliment has
power to give financial assistance to the
states?

a) Article 235 b) Article 245

c) Article 275 d) Article 265

e) Answer not known

abs  eflduiesr &, LIMITIT(@rB LD 63T HLD
wmBeomisehse BHuSeN Slaflsd AHSsmaD
QIDMIETENS|?

a) eA8235 b) e 245

C) eg275 d) efig 265

€) eflenL A5 MwieNebeneo

Which of the following is used for artificial
rain?

a) Liguid oxygen

b) Liquid Hydrogen

c) Liguid carbon monoxide

d) Solid carbon dioxide

e) Answer not known

E\FWLINHEME; LDEWLD 6)LILIWI BLo&:sH60T L&) SmaulILiBeus
61517

a) Boeu Apsedlezedt

b) Sneu emamr gezeir

C) Beu SiLedT GLoMEsTTHener®

d) &L snriueit ewL Spsemen®

e) eflewL e\BMwefeosmen

Which of the following is an example of
Zoonotic disease?

a) leprosy b) Diphtheria

c) Rabies d) Amoebiasis

e) Answer not known

Wesreueupmist 18 efleomi@seaflLid @mbsl
LD6vflS5 6018 GuHLD Crbmul?

a) esnwGeEM b) egneTEnL SiewLLILITeHT

C) Gmfsv d) Subdwunde

e) eflenL OsMwesbeneo
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162.

163.

164.

165.

Under the Indian Citizenship Act 1955, one
can acquire Citizenship by

i) Birth ii) Descent
iii) Marriage iv) Registration
a) (i) only b) (ii) only

c) (i), (ii) and (iii) d) (i), (ii) and (iv)

e) Answer not known

Srsws Gluflenbg FLLID 1955-65T S Qe
SBBWS GleLDa6vTTE: GeuetaT(BEILDETDITED
SpSwinefleo LNnESHE:e GeuetorBLD

8w eubsmeuefling SHss Ceuetor(BLD
Sleuflensans LS| OFUISHES Ceussor®LD

a) (i) wrew

b) (ii) @b

o) (i), (ii) wiogu (i)

d) (i), (ii) wigud (iv)

e) eflewL e\FMwefleoemen

According to a certain code TRUST = 103,
LOVE =58, then CARING is

SOUICL wemp&Muirigesr L TRUST = 103
sy, LOVE = 58 Speaib @mmsmeo CAR-
ING Opev1g

a) 46 b) 48 c) 57 d) 58

e) Answer not known / eflenL e\giflwefisbsneo
If MINJUR is coded as 423658 DATE is
coded as 1970 how can NADURAI be coded
MINJUR setetruigy) 423658 etevteyd DATE eretrLig)
1970 eenejld GSHUILLLLG6TeTg  erevfled
NADURAI etttz steueumm) @mluii LiLi@o?

a) 3915892 b) 4915982

c) 4951982 d) 4989215

e) Answer not known / eflenL e\gflwefisbsneo
A works 3 times as fast as B and is able to
complete a task in 24 days less than the
days taken by B. Find the time in which
they can complete the work together

a) 12 days b) 36 days

c) 9days d) 15 days

e) Answer not known

A Syevreurt B 228 amitigeyid 3 DL GeusLons Qb
Geuemeoemu! O\FWIG (PIRLILIMTIT. HHEUTTed HHbSLI
uewflemw B e1GsgIs6 ML CHISMms 6L 24
BIL&6T GMDaIns BG5S (WPR&sS (WPRSDE.
BmeuHLD G5ITTHE] b CeUENEVEmILI (LPIg&s ShGLD
GBISMSS HTET0TS.
a) 12mEmssr b) 36 mEmaer
C) 9mmsst d) 15mEmser
e) eflenL OgMweNseneo

166.

167.

168.

A and B together complete a projectin 16
days while A alone completes the project
in 48 days. In how many days can B alone
completes the project.

a) 12 days b) 24 days

c) 30 days d) 32 days

e) Answer not known

A bpmib B Sp8w @meumd Seneming @b
Geauemevemwl 16 HrLserfled wpeliuii. A gesfiGuw
SleuGeuemevemil 48 B derfled (preliim eresfled B
SeflG SHeuGauemeveml 15FH6m6u HITLS6rfl6d
WprelImT?

a) 12mmser b) 24 mmser

C) 30 mmsst d) 32mpmsst

e) sflewL e\BMwefeosmen

The National song of India ‘Vande
Mataram’ was a part of Bankimchandra’s
most famous Novel

a) Mailaaanchal b) Pinijar

c¢) Anandmath d) Poocho Parsai

e) Answer not known

Srdwimefleo Gl LMLEd ‘eubGs LS, Limudib

apPneflen LG LATLIGOLDTETT [BITCU6D ........... 651
R UGSSWNSLD.

a) emweom Spehsed b)) NEpa

C) DbeUHS DG d) w&Gem uismi

e) sflewL e\FMwefeosmen

Which of the following pair are correctly
matched.

Hills Region
1. Cardamom Hills - Coromandel Coast
2. Kaimur Hills - Konkan Coast
3. Mahadeo Hills - Central India
4. Mikir Hills - North-East India
a) land 2 b) 2and 3
c) 3and4 d) 2and 4
e) Answer not known
B Qasn@ssLULLabDNled  FRlwmeTensg
OUIMBSSI5.

LD 6 60 & 61T SLIs6T
1. gevéamiibemed -  GEFMLPLOGTITL 608

SLMDHSHEDT

2. em&epIT LDEDEL - C\BTRIGENS SLMHSEDT
3. wanHGwremed - LGS GbHuwim
4. 198 bewed - aLdpss GnpSwn
a) 1wpmib 2 b) 2whmrb 3
C) 3 whmib 4 d) 2wphmib 4

e) eflenL OsMweseneo
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169.

170.

171.

Assertion (A) : The one stop crisis centre

supports all women above 18 years of age

affected by violence.

Reason (R) : For girls below 18 years of

age institutions and authorities

established under Juvenile Justice Act and

POCSO act, 2012 will support.

a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

b) (A)is false and (R) is true

c) (A)istrueand (R)is false

d) Both (A) and (R) are true and (R) is not
the correct explanation of (A)

e) Answer not known

spm (A) : @G B OBGSHSQ LWL

GUEBTLPEDMUITED LITPSSLILILL 18 elLgI6@ GLDhLILL

SNDSHGIL E1LIETTEHEHHSLD 2_56USBMS).

angewrd (R) : 18 awgse Gemeunss GlLetor

GSRHMBHEHHS ADMT BHF FULD WHMID

GursBsm &FLULID, 2012 epeold BmieuliurL

IBI6UETTRISEHLD, AHPsMlsEHLD 2_geyeu.

a) A wpmib R @reior®Gw &fl wihmib R eretrug
A efibanes sflwnes eflensaid

b) A geumy R &l

c) AesfR sam

d) A wpmib R @resei®Guo & wpmib R eretruig A
efih&ment Frilwimes 6M6T&aLD6060

e) eflenL O\sflwefleosmeo

Name the Indian - American aerospace

engineer who led the NASA’s MARS 2020

MISSION”

a) N.Valarmathi b) Swati Mohan

c) Sunita Williams d) Devaki

e) Answer not known

8pdw - Sawfss elsuaeusfil ummwmer

& mefll 6ot Q66U 2020 S

\FWweOLINBSEn6TEIS HLSSWIeUT

a) N.euerriod b) seumn Gonsedr

c) seoflsmefebedlubs d) Goeud

e) eflewL \giiweflcoeneo

When the full moon is at the closest point

(perigee) of its orbit to Earth it looks bigger

and brighter, when we see it farthest point

(apogee) from earth is called

172.

173.

174.

a) LunarEclipse b) Blood Moon

c) Blue Moon d) Super Moon

e) Answer not known

6ierTievorLd [BevefledT SHmIEUL L LILITEDS, LSS LIS
Si(HB60 (HSHGLD OWIMPE, L&D QLIS TEHELD
35 @afl 2 ewLwsnsead Bluler 185
asmenevsilaysitem @ BLS5HO BB LMTSHESLD

OUMPEl OSHEUS) .......e... DbGID.
a) sk Sseond  b) deuliy Beor
C) BeoBeor d) el Beom

e) eflenL OgMweNsbeneo

Asbestosis is a chronic inflammatory con-

dition that affects the tissue of

a) Brain b) Heart

c) Lungs d) Kidney

e) Answer not known

Sl61061LIsTL TSIV 6T63TD) [HTEITLIL L SHLPMHE [BemeoLLImed

B&556T LMSLILIEDLULD 2_mILIL]

b) @suwib

d) fmBrswb

e)  sflewL e\5wiefleosmen

“Dravida Nadu” was the magazine of which

party?

a) Dravida Kazhagam

b) Dravida Munettra Kazhagam

¢) Marumalarchi Dravida Munettra
Kazhagam

d) Justice party

e) Answer not known

“Smefl BG” emhss: s Hulett BeMs BHHSEI?

a) SomelLit sLpald

b) SonefiL weiiGetm SLpsLd

C) wmueoiTEd Sl WETCEIMHM HLPSHLD

d) Bssard

e) eflewL e\BMwefeosmen

Match the following :

A) Swedeshamitran 1.

a) ewpewer
C) miswmuimeo

Young Radicals

B) Gita 2. Defactor Editor
C) Bala Bharat 3. Tamil Translation
D) The India 4. Sub Editor
OIMBSSI5.
A) sGss98meit 1. 6D OMesae06h
B) Sews 2. BEOLPEDD LBLILIT6T
C) umeo uNTS 3. I EWmPeLIWIILY
D) & @mdwn 4. glenewor LBLILITeNT
A BC D A B C D
a)4 13 2 b) 4 31 2
c) 321 4 d 3 14 2

e) Answer not known/sflenL a\gflwsfleosmeo
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175.

176.

177.

178.

Namakkal Kavinger’s song “Without sword

without blood one war has come” was first

sung during

a) Non-Co-operation Movement

b) Vedaranya Salt Satyagraha

c) Gandhi’s visit to Madurai in 1936

d) Quit India Movement

e) Answer not known

BM&&e seflgpflen ‘ssHulein Qussesm

WSSEIDNEHT N UBGSE LMLEDd (&6 L& 6dled

@6edlaaLLLL [BaLDey

a) REHHE®PWITEHLD BUISEHLD

b) Geugnmetorub 2 (1 ssSwndrsd

C) waNSLN HMHESUT6T 1936-1D S680T(® LDGIEHL!
LIWI6TOTLD

d) ewusitenemuGes OeuefiGLIm) Suissid

e) eflenL OsMwesbeneo

If the radius of the base of a coneis tripled

and the height is doubled then the volume

is

a) made 6times b) made 18 times

c) made 12 times d) unchanged

e) Answer not known

@(H FalDLI6ST SlQLIL|D SHILD (PLDDLIKISTSHELD

2 Wb S(H LOLIRISTSHEYLD LDINNEDTTED SHevTHeTe)

615,&6W60T LDLIBISITS LDMMILD?

a) 6wLRG b) 18 LG

C) 12wLMhG d) wrhmLsebemen

e) eflenL OsMweNsbeneo

The ratio of expenditure and savings in a

family is 5:3. If the expenditure is ¥3,500.

What is the savings?

R0 SGLUSS6T Feve] HMID CaslLiLgerfledr

efldsb 5:3 . e\Fevey oh.3,500 erevfled G&LALIL

6T6UEUEITEY?

a) 1,400 b) 2,100

c) 2,800 d) 3,000

e) Answer not known / eflewL a\gflwefisbsneo

The product of two number is 3672 and

their LCM and HCF are 612 and 6 respec-

tively. If one of the numbers is 36, then

find the other number?

8w aeuseflelr \LHSSHDLIEET 3672 HMILD

Slemeudserflest L5.8.1. Hmb LB.e1m.6u. pemmBu

612 IDHMID 6 SHGLD. SieuelaueTITS:6rfl6d (H 6T6voT

36 6163160 LDHEYDIT(H ETETITEWETINE: SHITETOIS.

a) 96 b) 102 ) 112 d) 124

e) Answer not known / flewL a\gflwefisbsneo

179.

180.

181.

182.

The greastest number that will divide 62,
78 and 109 leaving remainders 2,3 and 4
respectively is

62, 78 bpmILD 109-22 UGS (LPewmBGLL 2,3 LHMILD
4-g2158a6mas QSMBE&GSLD BLIGLITH 6\UINgISsmref]
a) 12 b) 14 ¢) 15 d) 16

e) Answer not known / eflenL e\gflwefisbsneo
Who is the winner of the prestigious world
press photo award 2022 in the long term
story category?

a) Dhanalakshmi

b) Arachendhran

c) Sanjeev Kavirayar

d) R.Senthil Kumaran

e) Answer not known

BewrL smeo HrLmser ereorn LflefleirSp 2 evs
USSf&HensL1 LIensLILILS &aneoeEhiT 6fl(hg) - 2022
WIN(H&ES SULPMRISLILILLGI?

b) Swmeemdmeir

C) sepder sefigmuir  d) it OFBSD @GLOT6HT

a) seueeoL G

e) eflenL O MweNebeneo

The mineral having transparency and hard-
ness

a) gold b) silver

c) copper d) diamond

e) Answer not known

el 2em[HEUSERIQUIHILD LDHMILD SHIPEdTESE3TEMLDWILD
6\&M6tuTL. &6uflLoLD

b) eeusiterl

d) eweumib

a) s
C) 6wy
e) eflewL e\FMwefeosmed

10% reservation for EWS (Economically
weaker Sections) gurantees by which
Constitutional Amendment

a) 100 b) 103 ™

c) 27t d) 75

e) Answer not known

665 TS W6LeMDLIL| FLL SHHSSD EIIMIBHOTTST
fHuleb uvevelievroneneuisenrsa, 10% QL
28158 L 2 NIHILESHBDE!.

a) 100 - eugy b) 103 -eag

C) 27-eag d) 75-eug

e) eflenL OsMweNsbeneo
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183.

184.

185.

The rays markedly increasing Shelf - life of
fresh fruits are

a) Xrays b) Gamma rays
c) Betarays d) Alpha rays
e) Answer not known

upmseaflesr QasLT Bewevsd HMEOFHMSHE
&MUNLS555 Slerefled SIEE LG T
SBTSHETTEUTENE

a) X sdiaer b) snor afissr

C) Suinmsdiser d) Speoun sdiser

e) eflenL O\siflweileosneo

The reason for expressing audio power am-

plification in dB unit is

a) ourearresponse

b) easy calculation

c) no other unit

d) to honour Graham Bel

e) Answer not known

@60 DML EILIHEBUTEIT D60 EILLI6D eT6dTm)

GSMILILGDSTETT SMTETLD 6T60T60T 2

a) mbwemLW e\Fellujemiey

b) erefiged sevoradL wiouyid

C) Geumy 6TbS SiOGLD S606eweD

d) &remb Oeo-eneo saTEALILGHETS

e) eflenL Osflweileosneo

Under Maratha administration, the

Amatya or Majumder was appointed

i) He was responsible for the account of
Income and Expenditure of the state.

ii) He was responsible for the Personal
safety of the king and supervise his
daily routine work.

iii) He was the foreign minister.

iv) His duty was to see that all royal letters.

Which of the above statement is correct?

a) (i) b) (ii)

c) (iii) d) (iv)

e) Answer not known

SIDSWIT 6060 LDGDSIT ETEITLIEUSHT LDIMESUI

OpL-Fludled BUILDEBTLD SIS 6DTIT

i) et wrBeGHeiT Qurey 61F606 &HEWTHMS
UIMTLILIGe0 QUIMmILILITG BuILf&asLILILLTT.

LDHMILD

Sleuifledr

Geuemevsemert GLDHLIMTEnEUUNBeuS60.

ii) wetteorlesr LMGIBMLIY L

2_geflWmenymse)Lb Sevrgifl

186.

187.

188.

iii) eeveflwmeys
BuILsS&UILLLTIT.

F:[20)) wrHhwns

iV) SNTEHTLDEDETTES CUBLD SLITEOSHEDET LITILILIG)
Heurledr SHLemLDIITELD.

GhaaniweunbNed e1g) FWITeT FabmT&LD?

a) (i) b) (ii)

c) (iii) d) (iv)

e) eflenL OgMweNsbeneo

Identify the false statement about the

Central Bureau of Investigation.

a) Is a statutory body.

b) Is not a statutory body.

c) Derives its powers from Delhi special
Police Establishment Act, 1946.

d) Isthe maininvestigating agency of the
Central Government

e) Answer not known

DGHSW L|6OEDTTUIEY] SHewewriid Lbm &eummest

E\EMDHEDITL6WI &H6ToTL IS,

a) emerLfBwer SiewwLiL

b) &G srLfBwner Sienibli Sieoeo

C) 616060 GevfliiL GLimedleiv LISWL HHewLDLIL| &1L LD
194660l@hHG| SHSSHMIhRIHENET OLMISHETDS).

d) wsdw Jipdledr wpeHw eflemTensm LpsemLD
ObGLD-

e) eflewL e\5wefeosmen

Who is the first woman dubashi in

TamilNadu Assembly?

a) Rajalakshmi

b) Girija Vaiythiyanathan

c¢) ChandraKala

d) Leilaseth

e) Answer not known

SIS FLLLDESTHESH6T (LPSH60 LI HILime wimi?

a) oneeeoLsN

b) &figzn eneugBwineoiget

C) sBAr seom

d) eSeom ess

e) eflenL OgMwesbeneo

The functions of Reserve Bank of India are:

1. Issue of currency

2. Banker of Government

3. Banker’s Bank

4. Exchange Managementand Control

a) 1only b) 2 only

c) 2and4only d) 1,2,3and4

e) Answer not known
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189.

190.

191.

8npdw  Meiey  eaumbulesr QFweoLITB/
Q\FWIEOLIT(B&HETTEUEDT:

1. mesorw Oeuerflui®

2. SipsMmisSSetT eurkiSwInenT

3. amdseaflesr eurmBwiment

4. ufimbm GLedTEsITEnLD LDHMILD &LBUTG

a) 1LED b) 2wr@En

C) 2 whmb 4 L ED

d)
Identify the group, those who were called
themselves as ‘Varnashrama dharmangal
anupalitha’ in the history of Tamil Nadu?
a) Pallavas

b) Pandyas

c) Nayaks

d) Tondaimans of Pudukkottai

e) Answer not known

SIS euTemHHled ‘euifearnrD &TLDMIS 6T

1,2,3wpmb 4  €) sflewL O\FMwefleoemen

Slerunedls’ e6iIm SRSMET AHDPSSHIS
6\GHTEUUTL 6UITEHET?

a) LIEOERUTSET

b) unesrnewitae

C) BTw&STSeT

d) ygsCamLemL O\SMeiTenLLDT6ITEET

e) eflewL 6B Mwefleosmen

Consider the following statement.

Parson valley is associated with

1) Hydelenergy

2) Solarenergy

3) Nuclearenergy

4) Wind energy

Above which oneis correct?

SLDESHEWIL SaDEmMD DbTMUIS.

uniisetT Geuedl eTHEmET SMTHSSI?

1) yewred Wetrmmd (BT DpbHmed)

2 &iw 568 WOleiT&EMILD

3 ST SpHDed

4) FMOHDHIEn6d LEl6TTFTILD

GGev 2_siTememeuufev 618 Frflwimest eflemL?

a) (2),(3) b) (1)

c) (1),(4) d) (4)

e) Answer not known / eflewL aisflweficosmeo
is a cash award given to Hindu Adi
Dravidar students of Tamil Nadu (one boy

192.

193.

194.

and girl) who secure first rank in each
district in plus 2 public examinations.

a) Thiruvalluvar Award

b) Ambedkar Award

c) Annal Gandhi Memorial Award

d) Periyar Award

e) Answer not known

EEUEIGUT(H LDMEML L SSEYILD, LIGST6ul6)T6T0TLITLD (S LIL]
ewngs Gsiiefled 1psedlLid LigsELd Sps Qb
SpP SunefilL DmeTTalTSHEHEES (E(H ShHevor LDHMILD
@(h 616w QUPMIGLILIBLD Q\Im&s efh)
SDbSLD.

a) Someusteneu sflpg!

b) SubGusem eflma

C) Slsturewreo &rhd Bevewrey 6®HS

d) ewfwn eflms

e) eflewL e\FMwefeosmed

In a class there are six students toppers
namely S, T, U, D, E, N. In how many differ-
ent ways can a leader and an assistant
leader be selected?

om aeldeo S, T, U, D, E, N eeirm Spm)
DTETEUTSH6T [F60TE SHMHESLD LDTETTOUTSHETTS
2 eneneniii.  Sleusefled bl
sfisdwngonen eufisefledo @@  DmewTEUT
BEWELEUSYILD (1 2_F 61l HemeveUSILD BITTHE\SB &S
Suweyd?

a) 6 b) 36 c) 30 d) 12

e) Answer not known / eflenL e\gflwefisbsneo
If the standard deviation of x, y, zis p then
the standard deviation of 3x + 5, 3y + 5,
3z+5is

X, Y, Z SpBweupmlent S Lefleosasd P-erevfled,
3x + 5, 3y + 5, 3z+ 5 opBweupmieir S

615 5 6 60T

61608 5LDITE0T S|
a) 3p+5 b) 3p
c) p+5 d) 9p +15

e) Answer not known / eflewL a\giflwefisbsneo

12 cows can graze a field for 10 days. 20

cows can graze the same field for

days.

12 USSESHET QM L6 Seogemw 10 HIL&eT

GuIBesTMEDT. 20 LIFSHS6T HES LisdgemTenu GLoul
IBITL&ET 61(BS G565 T6ITS T 60T

a) 18 b) 15 c) 8 d) 6

e) Answer not known / eflenL e\gflwefisbsneo
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195.

196.

197.

198.

A cube has a total surface Area of 384
Sg.cm. Find its volume.

a) 512 cm? b) 521 cm?

c) 510 cm? d) 500 cm?

e) Answer not known

R SH6U FHISBET \DMSSL LTl 384 &5HT
Q15 6tmQLBLLIT eTeufled DG 65T SH6uTl6TT6) HTETurs:.

a) 512 &.68.15. b) 5218.65.185.

C) 510 &.68.15. d) 500 &.65.18.

e) eflenL O\ flwefleosneo

The value of a motor cycle 2 years ago was
<70,000. It depreciates at the rate of 4%
p.a. Find its present value.

8m &557 eunsend Qe eflewed 2
SHETNBEHEHES W6 X 70,000 Sb& BHHSS-
D607 LDSLIL| SpeToTBESTMILD 4% 655D GewMBMG.
SiG60T HHBLINEWSUI LDSLIEWLIS: SHITETOTS.

a) 369,904 b) 364,512

c) 367,200 d) 364,400

e) Answer not known / eflenL e\gflwefleoeneo
Who became the first para - athlete to
receive the Padma Bhushan award?

a) DevendralJhajharia

b) Avanilekhara

c) Mariyappan Thangavelu

d) Krishna Nagar

e) Answer not known

USLD Lpewest eflihems QLM wp&ed UMM (Dmbmis
Bmevter]) sLaer efigm wim?

a) Ga8aubdT g3egmlwim

b) Sieuesll Geoampn

C) wmAwiiuesr SmsGaIey|

d) Smeipewor [BASIT

e) eflewL \giweflcoeneo

Which of the following soil is very rich in
Humus?

a) Laterite soil

b) Forest and mountains soil

c) Marshy soil

d) Alluvial soil

e) Answer not known

NetTeuHeuEITEUDMI6T 6TThS LDewTemlled 2 uliass)
L0l8 B (Lp6iTES|?

a) GeoLLemiL. LD6GoT

b) &m:® wmhmib eweo Loevor

C) &L Bev Levor

d) euesorLed evor

e) eflewL g fiweflcosneo

199. Match the following:

a) R.V.S. Perisastri 1. Former Chief Election
Commision

b) A.N. Roy 2. Former Chief Justice
of India

c) Charan Singh 3. Former Prime
Minister of India

d) B.N. Jha 4. Former chairaman of
UPSC
A B C D A B C D
a1 2 3 4 b) 2 4 1 3
c3 2 4 1 d 4 31 2

e) Answer not known

L esT6U(HEUEITEUNENM EILIMIHES SIS

a) RV.S. e enevgdfl 1. apeirenied HemevemLD
G556 DbEm6TOTLLIT

b) A.N.gmis 2. petreored @bSw
B6mevenLD B
c) &meir Ay 3. @psireomed GbSw
NogsLoi
d) B.N. &n 4. apetreormeo UPSC
Semeveu
A B C D A B C D
ajl1 2 3 4 b) 2 41 3
c) 324 1 d 4 31 2

e)  sflewL e\5Mwiefleosmed

200. To avail benefit under Sathiyavani Muthu

Ammaiyar Ninaivu free supply of sewing

machine are

1) No age limit

2) No income limit

3) Destitute window

4) Beneficiary should have female child

Among these, which are correct?

a) (1)and(2) b) (3)

c) (3)and (4) d) (4)

e) Answer not known

g&Sweuneunll Wp&g Sibewwlnt Beweorey Geveus

EOSLIEO SUITbHILD QUPraIGLD S L &PetT Liwestmerflgseit

1) euws) eurLbL] Gevemev

2) 6UHLDIEDT GUILDL| Q606060

3 Spsauhm sflgeney

4) Lwevtnerfl&6iT EILIETT GLDIHENS WEUSH([HE:S
GeuetorBLD

etreupLISUDNN6D 618 Frflwimesr eflewL?

a) (1) wpmib(2) b) @ wrEd

c) @ whmib @ d) @ wr@b

e) eflewL e\FMwefeosmen
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